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Consider three concurrent processes P1, P2 and P3 as shown below, which access a 
shared variable D that has been initialized to 555. 

P1 

D=D- 55 D=D+ 66 

P2 

The processes are executed on a uniprocessor system running a time-shared operating 
system. Find out the minimum and maximum possible values of D after the three 
processes have completed execution. 

Process 

P1 

Only Long Answer Type Questions (Answer Any Two out of Four) 

P2 

Consider the following CPU processes with arrival times (in milliseconds) and length of 

CPU bursts (in milliseconds) as given below: 

P3 

P4 

P3 

D=D -44 

1 

Arrival Time 

4 

Burst 

Time 

5 

1 

Part-ll 

3 

2 

a. What will be the Average Waiting Times and Turn Around Time if non-preemptive 
SJF scheduling is adopted? 

b. What will be the respective Average Waiting Times and Turn Around Time if SRTF 
scheduling is adopted? 

A system uses FIFO policy for page replacement. It has 4-page frames with no pages 
loaded to begin with. The system first accesses 100 distinct pages in some order and 
then access the same 100 pages but now in the reverse order. How many page faults 

will occur? 

A system has three resource types of namely A, B, and C. The number of instances 
from each type are 8, 6, and 4, respectively. At a particular timestamp, the system has 
the following resource allotment status: 

(16) 

(16) 

(16) 



Process MAX 

P1 

P2 

P3 

P4 

A 

6 

2 

2 

B 

3 

2 
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1 

2 

1 

ALLOCATION 

A 

1 

1 

2 

B 

2 

1 

1 

C 

1 

0 

1 

Whether the system is in safe state? Whether a new request of <1, 1, 0> from P4 can 
be granted? 

Consider the requestqueue (0-199) i.e. 200 tracks and the order of request are 82, 170, 
43, 140, 24, 16, 190 and current position of Read/Write head is 50. What is the total 
seek time of using the FCFS, SSTF, SCAN and LOOK disk scheduling algorithm. 
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